ggd

ud gd ud ud ooooobod
1 = goo E 1,200,000
2 = goo E 500,000
3 = goo E 300,000
4 = goo E 200,000
5 = goo E 160,000
T6 = goo E 131,666
T6 = goo E 131,666
T6 = goo E 131,666
9 ("] goo E 120,000
10 = goo E 110,000
11 = goo E 105,000
T12 = goo E 95,000
T12 = g E 95,000
T12 = goo E 95,000
15 ("] g E 82,500
T16 = goo E 61,714
T16 ("] 00oos2 E 61,714
T16 = goo E 61,714
T16 = goo E 61,714
T16 = goo E 61,714
T16 = goo E 61,714
T16 = goo E 61,714
T23 = goo E 49,000
T23 = goo E 49,000
T23 = goo E 49,000
T23 = goo E 49,000
T27 = goo E 44,500
T27 = goo E 44,500
T29 = goo E 41,250
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goo

goo

goo

41,250
41,250
41,250
35,250
35,250
35,250
35,250
35,250
32,500
32,500
31,500
29,000
29,000
29,000
27,000
26,500
25,750
25,750

25,000
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